THIRD AMENDMENT TO AGREEMENT FOR PROFESSIONAL ENGINEERING (CEI) SERVICES FOR CR 115 WIDENING AND RESURFACING PROJECT FOR NASSAU COUNTY, FLORIDA

of ________, 2020 by and between the Board of ________, 2020 by and between the Board of County Commissioners of Nassau County, Florida, a political subdivision of the State of Florida, hereinafter referred to as the "County", and CDM Smith, Inc., a Foreign Profit Corporation, whose Florida office address is located at 7029-1 Commonwealth Avenue, Jacksonville, Florida 32220, hereinafter referred to as "Consultant".

WHEREAS, the parties entered into an Agreement for Professional Engineering (CEI) Services for CR 115 Widening and Resurfacing Project for Nassau County, Florida, hereinafter referred to as "Agreement", on or about November 18, 2019;

WHEREAS, the Agreement provides for an initial performance period of one (1) year beginning November 18, 2019 and ending November 17, 2020; and

WHEREAS, the Agreement allows for the performance period to be extended upon mutual consent of the parties; and

WHEREAS, on November 17, 2020, the parties agreed to extend the performance period for an additional period

Contract Tracking No.: CM2775-A3

Bid No.: NC19-021

beginning November 18, 2020 and ending December 15, 2020 to allow the Consultant to oversee the project through the construction end date at that time of December 8, 2020; and

WHEREAS, on November 23, 2020, the Board approved a Change Order (CM2731-CO2) for Anderson Columbia Co., Inc. extending the construction end date to January 18, 2021 to account for recent inclement weather and holidays which will require additional services to be provided by the Consultant; and

WHEREAS, the parties recently agreed to extend the performance period for an additional period of time beginning December 16, 2020 and ending December 31, 2020 to allow the Consultant time to prepare and submit a cost proposal for services during the additional amount of time granted by the Board for construction; and

WHEREAS, the Consultant submitted a cost proposal in the amount of \$92,837.58 for services through the current construction end date of January 18, 2021 for the Board's consideration, a copy of which is attached hereto and incorporated herein as Exhibit "A"; and

WHEREAS, the parties desire to extend the performance period for an additional period of time beginning January 1, 2021 and ending January 18, 2021 to allow the Consultant

Contract Tracking No.: CM2775-A3

Bid No.: NC19-021

to oversee the project through the current construction end date of January 18, 2021.

NOW, THEREFORE, for and in consideration of the promises and mutual covenants and understanding contained herein, the parties hereto do mutually agree as follows:

- 1. The Agreement shall be amended to extend the performance period beginning January 1, 2021 and ending January 18, 2021.
- 2. The County shall compensate the Consultant in the amount of \$92,837.58 for the additional services provided during the extended performance period.
- 3. All other provisions of the Agreement not in conflict with this Amendment shall remain in full force and effect.

BOARD OF COUNTY COMMISSIONERS NASSAU COUNTY, FLORIDA

By: THOMAS R. FORD

Its: Chairman

ATTEST as to authenticity of Chair's signature:

JOHN A. CRAWFORD

Its: Ex-Officio Clerk

Contract Tracking No.: CM2775-A3

Bid No.: NC19-021

Approved as to form by the Nassau County Attorney	
MICHAEL MULLIN	
	CDM SMITH, INC.
	By:

11/24/2020

Personnel Classifications	1	2	3	Estimated Start Date	Estimated End Date
Pavement Management for Nassau County			12/17/2020	1/18/2021	
				Months	Hours
Sr. Project Engineer	0.30			0.30	49.50
Project Administrator/Project Engineer	0.80			0.80	132.00
Sr. Inspector	1.00			1.00	165.00
Sr. Inspector	1.00			1.00	165.00
Inspector	1.00			1.00	165.00
Inspector	1.00			1.00	165.00
Contract Support Specialist	0.50			0.50	82.50

- 1. Perform CEI Services as an extension of County in the Consultant Engineering and Inspection (CEI) Service of C
- 2. Project Administration, Construction Engineering Inspection and Issue Resolution
- 3. Construction was extended 81 days \sim 2.67 months.
- 4. Contract CEI Services Extension 1 month

	24-Nov-20			
	CEI Services			
CR 11:	Old Dixie Hi	ghway		
I .	Nassau County	y		
C	DM Smith, In	c.		
Employee Classification	ОТ			
	Allowed	Man-Hours	Billing Rate	Cost
Sr. Project Engineer CDM	N	49.5	\$177.62	\$8,792.19
Project Administrator/Project Engineer CDM	N	132.0	\$135.92	\$17,941.44
Sr. Inspector CDM	Y	165.0	\$92.35	\$15,237.75
Sr. Inspector ETM	Y	165.0	\$99.18	\$16,364.70
Inspector CDM	Y	165.0	\$77.95	\$12,861.75
Inspector CDM	Y	165.0	\$77.95	\$12,861.75
Contract Support Specialist CDM	N	82.5	\$106.40	\$8,778.00
VT Testing Services (Cal-Tech Testing, Inc.)	N	0	\$32,145.00	\$0.00
	Т	OTAL LIMIT	ING AMOUNT	\$92,837.58

- 1. Consultant must obtain written approval from the County prior to working overtime on any Project.
- 2. Overtime will only be allowed for Sr. Inspector and/or Inspector positions, as approved in writing by the County.
- 3. Not to Exceed contract with all excess, unused funds returned to the County.
- 4. This amendment is for Construction extension of 81 days to complete by 1/18/21.